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QUESTION 1

When you take a level 2 backup, what data is backed up? 

A. All new data since the last level 1 backup. 

B. All new data since the last level 2 backup. 

C. All logical logs which have not previously been backed up. 

D. All new data since the last level 0, level 1 or level 2 backup. 

Correct Answer: A 

 

QUESTION 2

The total number of locks allocated equals the value specified by the LOCKS configuration parameter. What is the
behavior of the database server when more locks are now requested? 

A. The user encounters a lock request error. 

B. More memory is allocated for additional lock structures from DS_TOTAL_MEMORY. 

C. More memory is allocated for additional lock structures in the VIRTUAL section of shared memory. 

D. More memory is allocated for additional lock structures in the RESIDENT section of shared memory. 

Correct Answer: C 

 

QUESTION 3

Which two logging modes are compatible between two databases participating in a distributed query? (Choose two.) 

A. ANSI and non-ANSI 

B. Buffered and Unbuffered 

C. Buffered and Non-logging 

D. Non-logging and Unbuffered 

E. Non-logging and Non-logging 

Correct Answer: BE 

 

QUESTION 4

The Rolling Window clause of the ALTER FRAGMENT MODIFY INTERVAL statement CANNOT define a purging policy
on a table that has which two attributes? (Choose two.) 
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A. The table has a ROWID shadow column. 

B. The table has a Fragment By Range index. 

C. The table has a Unique Key being used by ER. 

D. The Fragment Key is defined with multiple columns. 

E. The Primary Key for the table is referenced by a foreign key constraint. 

Correct Answer: AE 

 

QUESTION 5

Which SQL statement is valid to monitor database server sessions? 

A. EXECUTE FUNCTION task ("onstat","-g ses"); 

B. EXECUTE FUNCTION task ("view sessions","all"); 

C. EXECUTE FUNCTION task ("check sessions","all"); 

D. EXECUTE FUNCTION task ("check server","sessions"); 

Correct Answer: A 

 

QUESTION 6

Which ONCONFIG parameter would you use to disable the automatic creation or extension of chunks? 

A. SP_WAITTIME 

B. SP_THRESHOLD 

C. SP_AUTOEXPAND 

D. SP_CHUNKEXTEND 

Correct Answer: C 

 

QUESTION 7

The DBA wants to define a replicate as follows: Which condition must be true for the command to execute
successfully? 

A. The table table1 should have col1 as its primary key. 
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B. The table table1 should have CRCOLS shadow columns. 

C. The table table1 should have a constraint on column col1. 

D. The table table1 should have an unique index on column col2. 

Correct Answer: D 

 

QUESTION 8

When the server is in administration mode, which users are NOT allowed to connect? 

A. informix 

B. Members of the DBSA group 

C. Members of the DBSSO group 

D. Users specified by ADMIN_MODE_USERS 

Correct Answer: C 

 

QUESTION 9

To potentially return unused extent pages to the chunk free list, an Informix administrator would execute which storage
optimization operation? 

A. Shrink 

B. Repack 

C. Compress 

D. Defragment 

Correct Answer: A 

 

QUESTION 10

The \\'onstat -k\\' output is showing \\'56 lock table overflows\\'. Which catalog table can be used to display the relevant
lock statistics? 

A. syslocks 

B. systables 

C. sysprofile 

D. sysoverflow 

Correct Answer: C 
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QUESTION 11

Which object can be compressed? 

A. dictionary table 

B. temporary table 

C. attached b-tree index 

D. detached b-tree index 

Correct Answer: D 

 

QUESTION 12

Which statement is FALSE about Informix Automatic checkpoint Feature? 

A. Automatic checkpoints cause less logical log activity. 

B. Automatic checkpoints try to avoid transaction blocking. 

C. Automatic checkpoints cause the database server to trigger more frequent checkpoints. 

D. Automatic checkpoints can be dynamically enabled or disabled by using onmode -wm or onmode -wf. 

Correct Answer: A 

 

QUESTION 13

Which step must be performed to enable Secure Socket Layer (SSL) connections to Informix? 

A. Configure encrypt virtual processors in the ONCONFIG file. 

B. Configure poll threads for SSL connections in the ONCONFIG file. 

C. Specify the SSL connection protocol in the sqlhosts file or registry entry. 

D. Specify the name of the label of the server digital certificate in the ONCONFIG file. 

Correct Answer: C 

 

QUESTION 14

Which communication protocol needs additional configuration besides onconfig and sqlhosts? 

A. TLITCP 

B. IPCSTR 
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C. IPCSHM 

D. SOCSSL 

Correct Answer: D 

 

QUESTION 15

Which of configuration parameter can be increased to improve the performance of flushing dirty buffer pages during
checkpoints? 

A. CKPTINTVL 

B. RA_PAGES 

C. CLEANERS 

D. SHMVIRTSIZE 

Correct Answer: C 
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